P2 : U15 HiEBRIRBA(Python)
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import numpy as np

1

2

3 nl = intCinput("nl=?"))

4 ml = intCinput("ml=?"))

5 a = np.zeros((nl, ml))

6 for i in range(nl):

7 for j in range(ml):

8 alil[j] = intGinput(f"al{i+1}][{j+1}1=?"))
9

10 n2 = int(input("n2=?"))
11 m2 = intCinput("m2=?"))
12 b = np.zeros((n2, m2))
13 for i in range(n2):

14 for j in range(m2):

15 (L =AdntCGnput(f"b[{i+1}]1[{j+1}1=""))
16

17 haveAns = False

18

19 for i in range(nl-n2+1):

20 for j in range((2) ):

21 3

22 for k1 in range(n2):

23 for k2 in range((4) ):

24 if (a[i+k1]1[j+k2] !'= b[k1][k2]):

25 good = False

26 if good:

27 print(f"i, j= {i+1}, {J+13}") # InLutss B8 A IIF 46 T80 AL bR
28 5

29

30 if not haveAns:

31 print("There is no answer'")
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(1) bl[i1l3]

(2) ml-m2+1

(3) good = True
(4) m2

(5) haveAns = true
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1 from collections import deque

2

3  def bfs(n, st, ed, a):

4 1 = deque()

5 T.append((st, 0))

6 f=1[0] *n

7 flst] = 1

8 while T1:

9 kx, kt = T.popleft()
10 x = kx + a[kx] # L
11 y = kx - alkx] # T#
12 if (x == ed) or (y == ed):
13 return kt + 1
14 if (x >=0) and (x < n) and (f[x] == 0):
15 1.append((x, kt+1))
16 fix] =1
17 if (y >= 0) and (y < n) and (f[y] == 0):
18 T.append((y, kt+l))
19 flyl] = 1
20 return -1

22 n = int(input("n=7?"))
23 st = int(input("start=?"))
24  ed = int(input("end=?"))

25

26 msg = "k[1], k[21, ... k[n]=?(LAES/rF@)"

27 a = list(map(int, input(msg).split(','))) # fAalil
28

29 st, ed = st-1, ed-1 # #ZE4m5HEHR[0, n-1]MET /508
30 if (st == ed):

31 print(0)

32 else:

33 print(bfs(n, st, ed, a))
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